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3. AB=AC ¢l o]5H4Zd ABC 94 BC = BD ©]2 /DBC = 26°
oA o, LA S F5HAE?

A

@® 13° @ 26° ® 30° @ 52° ® 72°



4. & 1A AABC = BA = BC ¢l o] 5H#AZHgo|th AC = AP
olal /C=72> L W, zx+ 2y & FH2?

\
B

@© 64° @ 66° ® 68° @ 70° ® 712°



& 2|4 AB = DC,AC = DB 121 /BOC = 84° & ©f,
(OBC ¢] 27]& -sej=t.
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6.
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O AB=BC=CA,AC, /B
@ AB=BC=CA,AC, /C
® /A =/B=:/,C,BC, /A
@ /A =/,B=:.C,BC, /C
® (A =/B=/C,AC, (C



ChS el A AABC L ol S Az ol
AB,AC o &l 4419 ¥& 717} P,Q 2 & , DP = 4em, DQ
6cm ©]eF. @ B o4 AC of el S419] 7




8. S 1894 AADE & AEBC & o]5H Azt ot} /DEB = 40°
,.C =54 ff, LA o] I7]E Foloq=}
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